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I’y mwn: various scenarios involving ©’nmit 07 in cases of N721/MNY2VY NN

a

o an o

if: the one set of 07y of both na>1) and n7121/0N’20 turned out to be wnnit — they pay full 4/5

if: if separate sets tesfified to n2213 and n"1v and both were found omi: one set pays 793, the other pays remaining 2 or 3
if: only the 2nd set turns out to be nnmt; he pays %93 and they pay 2 or 3

if: one of the final 01y turns out to be on, the 2°d M7y is nullified and he pays Y93

if: one of the 1% set turns out to be nn, the entire testimony is stricken — without 121 M7, N2V MTY means nothing

II Dispute between »ar/x17 about retroactively invalidating nmmr 1y to date of falsified testimony

a

b

»aR: invalidated retroactively (n’9021 nn Y1905 DRIt 0TY)
i argument: they are yw1 from that moment and v. 1 inavalidates yw1 1y
R17: only invalidated from date of nntn (0’9091 X109 RIN DM DY)
i argumentl: om 7 is a VTN (why believe nmyn over first set?) — we can only apply invalidity from moment of nnrn
ii  argument2: X117 essentially agrees with »ax, but won’t invalidate retroactively due to mmp>1 R0
1 explanation: if others used these witnesses for purchase in the meantime, they will lose their acquisition
iii ~ split the difference: if 2 witnesses were n’n each witness independently — only 2" argument would apply
ruling: follows »aR as "»” of n"ap Yy
test against 1¢ clause in our mwp: if the w1y first testified about na711, we now should invalidate them retroactively and
not find them liable for 4/5 for n1an/nn»av
i response: case was where they testified about n"v first
ii  challenge: if so, we now should invalidate n2)3» m7y retroactively and there’s no liability at all
iii  rather: they testified about both at the same time
suggestion: their dispute mirrors dispute between »ov *3/0'nan:
i if 2 witnesses testified about n2'33 and they were also the witnesses of nn»av
1 and: they were nnn about the N2 — entire testimony nullified
2 however, if: they were onn about the nn»av, he pays Y93 and they pay 2 or 3
3 dissent (»py *): this only applies to m»y1y 'nw; but nnk M7y —if part is nullified, the whole is nullified
(a) Proposed meaning: ny1y MY — 2 sets of witnesses; nnk M1y — 1 set at different times
(i) If so: why would nnrn of later testimony nullify earlier one?
(b) Rather: 7y 'nw — 1 set, separate testimony; nnx mTy — 1 set, compound testimony
(i) And:we assume that all agree that 19277 715 7In is considered one utterance
(if) Proposal: 13271 maintain that invalidity is only from here on — only last part of testimony is annuled
(iii) And: »ov 7 - retroactive and since it was all 11277 773 I, entire testimony is annulled
(c) Rejection: if all agreed to M12>7 »13 7N, all would agree to retroactive annulment
(d) Rather: dispute is in re: 19277 *13 PN (1327 — separate declarations; ™1 — all one declaration)
(i) Challenge: (1:n nnN) — > (contra n™) if he changed his mind re: the target of N1 mn — last one accepted
1. And: our explanation was that he did so 11277 12 T\ = 07 N7 IRY N7 "D TN
2. Answer: there are two standards of 7"n:
a.  Greeting a teacher: ¥ »21 79y YW (4 words) - " rejects this as 112’7 *19 70 - too long
b.  Greeting a student: P5y 05w (2 words) — " accepts this as 11271 *13 7N — not too long
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